St Denys Primary School

Spellings and Times Tables

Week beginning:
th
g 6" July 2020 -

Creativity, Choice, Challenge
Achievement for All




Year 5 - School Closure - Home Learning

Whilst we are not expecting you to replicate school at home, it will
be important that you all try to do some work each school day to
keep your skills up.

And don't forget to stay active!

Here are your new spelling words and daily challenges for Time
Table Rockstars.

There is also a Y5/Y6 joint work booklet that you will be able to
collect from the school foyer each Monday. This booklet will also be
available to download on our school closure webpage.

Each morning I will still be saying 'Hello' on the Class Story page on
the Class Dojo app. You'll also be able to ask me any questions or
just tell me about what you have been up to! As I will be in school,
remember I might not be able to respond straight away. You will
still be able to post things to your Class Dojo portfolio but it might
not always be me who approves and leaves comments for you.

Mr Baker
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Here are ten words that you need to know how to
spell as well as knowing what they mean.

accommodate

accompany

according

achieve

aggressive

amateur

ancient

apparent

appreciate

attached

Unscramble the following to make some of the words above:

1.hiveace .......ocoooiiiiiiiiiiiiiinn, 2.8Iregg Vase.......cooveiuiiiiiiiiiiiaene,
3.citeapaper ......ccoiiiiiiiii 4.acedthat ...
Look up the meaning of these words and write them ’
down. //
5. ACCOMMOAATE ..t
L= Yo oTo] 1 0] 0= | 1 |V PP
=T o] o 2= 1= o | S P

Write sentences using the words below:

ancient according amateur




Here are six words which all have spelling
mistakes. Write the words correctly.

1.attatched ... 2.aincent
3.apparant ... 4.acheive ...
5.accomodate ... 6. AggreSiVe ...coviviiiiiiiii e

Sometimes words can be added to, to make new words. Here
are three pairs of words. Write an interesting sentence for one
word from each pair.

accommodate apparent amateur attached

Words within words. From inside the words shown above find smaller words with the
following meanings:

10.adullpain ........ccooviiiiiinin. 11.apaymenttoalandlord ........................
12.asmallcarpet ........................ 13.the day of the month ............................

14. mumordad ..........coeoiiiiiiinn, 15.apalorfriend .........ccooiiiiiiiiii




Use the ten words below to complete the
following sentences.

according appreciated attaching
achievements aggressive amateurs ancient
accommodated accompanied apparent
T torecordsthe ..............cool Olympic Games were
onlyopenfor ... to compete in.

2. Events included athletics, wrestling and chariot racing and the competitors had to be very

................................... in order to stand a chance of winning.

3. Thecrowds .........ccoviiiiiiiiiiiiees the winners and admired their

.................................... y ereeeerieiieieeieseeaeaaeneaae... great honour to them.

4. In the modern Olympics most athletesare ..., in the
Olympic Village, ......cccoiiiiiiiiiiiiiiiians by their coaches and other staff.

5. 1HIS i that the Olympics are still very popular, with most countries of

the world entering every four years.

Write your own short passage, to include the following words:

achieve according aggressive ancient




Find all the words from the list, either across,
back, up, down or diagonally.

b|d|s|a|t|a|p|r|p|la|a]s
accommodate ale|t|la|i|lc|le|r|p|pl|lala
accompany

ajclclo/m|pla|n|y | p|aje
accordin
achieve

vit|rjo|s|jel|i|x|v|r|n]i
aggressive

d/n|pjp mjajd aje|e|h s
amateur

ple(w|l |jum|ja|/p|i|n]c]|s
ancient

rpi|sjoflgjlgjonihjtjuje
apparent

alc|lclolm|ja| m|d|c|q|u]|Tr
appreciate

g|njijd|rjojc|c|a|r|a|dg
attached

ala|r|luje|tla/m|ja|t|)a]|g

Choose words from the word list above to complete the following sentences:

1. The excavation uncovered several ............ccceeeeeeiieiiiieeiinnnne, pots.

2.1twas ..o that the match would have to be abandoned because of the heavy
rain.

3.1hopeto ...covveeiiiiiiii, a level 5 in my tests this year.

oo to the weather man it will be fine for sports day.

S.1hadto ., my sister on the big dipper as she was scared.




Name: Week 6 Session 1

Times Tables 2,3,4,5,6,7,8,9,10,11,12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 11x 4= 21 3x12= 41 9x2=
2 10x10= 22 8x 7= 42 8x 8= Time taken
3 9x11= 23 3x1= 43 2x5=
- R 3 minute time limit &
4 2x9= 24 3x1= 44 12 x 4 =
- - EE— Score
5 9x 7= 25 7x6= 45 8x9=
6 2X6= 26 4x7= 46 9x9= 60
7 5x3= 27 11x7= 47 10 X 6 =
- E— What's your rock status?
8 12 x3= 28 4x12= 48 11 x12 =
WANNABE
9 11 x 8 = 29 8x11= 49 10 X 6 = < 18 correct in 3 mins
- - — ' A AZE BAdT
10 11x1= 30 12x12= 50 4%X6= 18-19 correct in 3 mins
11 5x3= 31 12 x2= 51 3x 11 = 20-21 correct in 3 mins
T KR
12 8x5= 32 9x 12 = 52 3x8= 22-24 correct in 3 mins
UNZHSNED A<T
13 8x8= 33 5% 6= 53 12 x 3 = 25-29 correct in 3 mins
BREAKTHROUGH ARTIT
14 10 x 4 = 34 6x2= 54 8x8= 30-35 correct in 3 mins
JUPPORT AT
15 7X6= 35 8x 9= 55 2 X7 = 36-44 correct in 3 mins
HEADUINER
16 8x7= 36 11 x 3 = 56 12X6= 45-59 correct in 3 mins
- - T Rodk2TAR
17 3x8= 37 1x2= 57 2 x 3= All correct in < 3mins
Ko<k LEGEND
18 6x7= 38 10 x 2 = 58 2 X2 = All correct in < 2min
19 3x11l= 39 4%x5= 59 10 x5 = All correct in < 1 min
20 Ox 7= 40 9x2= 60 0x9= i

©Maths Circle Ltd 2020



Name: Week 6 Session 2

Times Tables 2,3’4,5’6,7’8,9’10,11’12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 a week
Licensed to St Denys Primary School
1 13 25 37 49
9| 72 11 | 88 8| 80 12| 72 4| 40
Time taken
2 14 26 38 50
9] 81 6] 24 4 8 N EE 3] 27 3 minute time limit
3 15 27 39 51 Score
8| 80 2| 10 4| 16 11 | 66 11 | 77
4 16 28 40 52 60
9| 54 9| 72 2| 16 8| 88 11 | 33
What's your rock status?
5 17 29 41 53
10 | 30 4| 32 9 /108 3] 12 5| 55
< 18 correct in 3 mins
6 18 30 42 54 ) ADAZE BeAAkED
7 19 31 43 55 20-21 correct in 3 mins
9| 63 9| 63 3| 18 5 40 11| 44  <IG4ER
22-24 correct in 3 mins
N /\’ \/" :/ ‘J’ ~“
8 20 32 44 56 UNAAGNED A<T
25-29 correct in 3 mins
12 | 84 51| 60 3] 15 4| 24 7 7 Y DY
BREAKTHROUGH ARTIZT
30-35 correct in 3 mins
9 21 33 45 57 LUPPORT A
5140 12 1 72 6| 30 3 9 11 99 36-44 correct in 3 mins
HEADUNER
10 22 34 46 58 45-59 correct in 3 mins
8| 72 3|18 10 | 10 3 21 10 [110  Rodk 2TAR
All correct in < 3mins
> [ﬁ . ir:
11 23 35 47 59 & LEsENp
All correct in < 2min
9| 90 7| 70 3| 18 11| 33 7128
All correctin = 1 min
12 24 36 48 60 ur R
4] 8 12| 72 7] 35 7] 63 11 W TLME" TABLEY

©Maths Circle Ltd 2020



Name: Week 6 Session 3

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 12 13 9 25 3 37 8 49 7
X 3 X 2 x 11 X 4 X 12
- Time taken
2 5 14 6 26 10 38 3 50 9
X 2 X7 X 12 X 12 X 2
3 minute time limit &
3 9 15 2 27 9 39 6 51 6 Score
X 2 X 2 X 8 x 1 x 10
4 7 16 8 28 2 40 6 52 11 60
X 4 x 1 X 3 X 2 x 7
What's your rock status?
5 11 17 11 29 5 41 2 53 10
X 2 X 8 X 2 X 2 x 1
< 18 correct in 3 mins
6 > 18 3 30 4 42 12 54 4 2 ADACE BAdkFD
x 10 X 2 X 8 x 10 x 11 GARAGE RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 9 19 6 31 7 43 4 55 7 20-21 correct in 3 mins
X 2 X 3 X 8 X 2 X 6 «/«“%
- 22-24 correct in 3 mins
8 12 20 5 32 11 44 7 56 7 UNﬁ“MW P J
X 8 x 11 X 6 X 6 X 2 25-29 correct in 3 mins
BRIAKTHROUGH ARTIST
30-35 correct in 3 mins
9 12 21 4 33 6 45 8 57 11 AUDDART AdT
X 2 x1 x 3 x 12 x 12 FUPPORT.
36-44 correct in 3 mins
o HEADUINER
10 7 22 9 34 7 46 12 58 4 45-59 correct in 3 mins
x5 X 4 x 11 x 1 x 1 Adl 2 AR
o<k #TAR
[ - - . All correct in < 3mins
1 5 23 12 35 3 47 10 59 3 o<k LEGIND
X5 X 7 X 3 X 4 X9 All correct in < 2min
All correct in < 1 min
12 3 24 2 36 > 48 9 60 5 S
X 3 x 10 x 2 X 9 x 11 TUIES TABLES

©Maths Circle Ltd 2020



Name:

Week 6 Session 4

Times Tables

2,3,4,5,6,7,8,9,10,11,12 2019-20
Times Tables Year 5 Summer (2)

Rock Stars
Licensed to St Denys Primary School
1 18+ 2 =
2 132+12=
3 99 + 9 =
4 18 +9 =
5 77 +17 =
6 72 + 8=
7 35+5=
8 50+ 10 =
g 30+ 3=
10 60 +5 =
11 48 + 6 =
12 22+ 2=
13 110+11=
14 30+10=
15 54 + 9=
16 20+ 2 =
17 50 +5 =
18 110+ 10=
19 88+ 8=
20 35+7=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

5 aweek
96 + 12 = 41 45 + 5 =
66 + 11 = 42 63+ 9= Time taken
30+ 10 = 43 32 +4 =
- E—— 3 minute time limit &
81 +9= 44 42 +7 =
- E— Score
16 +2 = 45 72 +8=
6+6= 46 18 + 3= 00
E— E— What's your rock status?
45 +9 = 48 80+10=
10+2 = 49 54 - 6 = < 18 correct in 3 mins
. _ . ) ' \L .
48 +~ 8 = 50 20 + 10 = 18-19 correct in 3 mins
4 =2 = 51 8+8= 20-21 correct in 3 mins
T 4Ky
110 + 11 = 52 45 + 9 = 22-24 correct in 3 mins
99 + 9 = 53 72 + 8 = 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
48 + 12 = 54 72 + 12 = 30-35 correct in 3 mins
SUPPORT ACT
63+7= 55 8 +4= 36-44 correct in 3 mins
HEADUINER
20+10 = 56 32 +4 = 45-59 correct in 3 mins
Ro<k 7TAR
18 + 6 = 57 6+2= All correct in < 3mins
- T Redhleaow
10 + 10 = 58 100+ 10= All correct in < 2min
27 + 9 = 59 84 ~7 = All correctin = 1 min
96 + 8 = 60 44 = 11 = ,

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

2,3,4,5,6,7,8,9,10,11,12
Times Tables

Week 6 Session 5
2019-20

Year 5 Summer (2)
5 a week

Licensed to St Denys Primary School

1

9

10

11

12

13

14

15

16

17

18

19

20

5% 4=

5x5=

4x9=

8x6=

10 x 4 =

6x4=

4x4=

11 x 10 =

12 x 11 =

6X6=

5x1=

9x11=

6x5=

6 x4=

5x12 =

7x11 =

5x5=

11 x 8 =

5%x9=

9x 6=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

12 x5 =

9x2=

8x1=

7%X6=

3x7=

4x9=

10 x 8 =

11 x7=

2x12 =

5x11=

2+2=

144 = 12 =

14+7=

24 +2=

20+ 5=

64 + 8 =

16 + 8 =

63+9=

28 +4 =

88+ 11 =

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

©Maths Circle Ltd 2020

21 + 3=

25+5=

16 +2=

21+ 7=

99 +11 =

72 +8 =

16 + 8 =

96 + 12 =

55+ 11 =

40 + 10 =

22 +2=

14+7=

110 + 10 =

80 +10 =

24 +8=

84 +7=

72 +9 =

54 + 9 =

40 + 10 =

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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